*UXSD 5RINiDG 8& -8 1$ 5

=LPDB

33. 7\J

o
(9]
=
n
)
-O)
p—
3
7\J
6SHF QDXF]\ 3HUVRQDIL]DFID SURFHVX
NVJIDéFHQLD ] HIHP IXIRUIX GU SDN
/HRQ =DICFLD RQ ILQH )5 z
8&.81%5 33.
JIRGQIH ] IDSWVDPL Z VAVIHPIH 8626
P
= 7\J
S
7 6SHF QDXF]\
3HURQDILJDFID SURFHVX
NV]VDiFHQLD ] HHP
IXIRULIX GU = RINQD
-DQXV] =DICFLD RQ (lQH
:)5 - 8&.-8
1$5 33.
JIRGQIH ] 1DSWVDPL Z
VAVIHPIH 8626
7\G] 7\J
o 6SHF QDXF]\ 3HUVRQDI]DFID SURFHVX
= NV]JUDiFHQLD ] HIHP IXIRULJIX GU ®URJGHN 3HUVRQDIL]DFID SURFHVX
5 OD:RIHSV]D 7HUHVD =DICFLD RQ ILQH NV]IDiF QDXF]\FLHL ]
o :)5 - 8&.81%5 33. HIHPHQ IIXIRULQJIX GU
> %LQF]\N 203D =DICFLD RQ
IQH  )$5 =
8&.81%5 33.
a 7\J
2 3HURQDILJDFID SURFHVX
= NV]IDiF QDXFI\FLHL ]
0] HHPHQ #IXIRUQJIX GU
X %LQF]\N 203D =DICFLD RQ
(o4 ILQH )$5 z

8&.81$5 33.




=LPDB
*UXSD 5RINiDG 8& -8 1$ 5

33.

7\J

QLHG]LHOD

7N\

6SHF QDXF
\

1
3HUVRQDIL]
DFID
SURFHVX
NV]VDiFHQLD
1 HHP
IXIRULIX GU
" UR]JGHN
OD:RIHSV]D
7HUHVD =D
CFID RQ
ILQH )
5 z
8&.8 1%
5 33.
JIRGQH ]
]DSIVDPL
Qz
VAVIHPH
8626

7\J

6SHF QDXF
N
3HUVRQDIL]
DFID
SURFHVX
NV]IDiFHQLD
] HHP
IXIRULIX GU
“UR]JGHN
OD{RIHSV]D
7HUHVD =DI
CFLD RQ
(LQH =)
5 -
8&.8 1%
5 33.
JIRGQH ]
DSIVDPL Z
VAVIHPLH
8626




